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A certain type of aluminum screen that is 2.5 feet wide has on the average one flaw in a 80-foot
roll. Find the probability that a 50-foot roll has no flaws.
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0.625 0 0.5353
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P(Y >65.5)= P(Z 2M=1.123j=0.1308
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n p U o2 X z P(Y > 65.5)
100 0.6 60 24 655 1.1227  0.1308

¥ 33
FEEJE @‘—* e XY ~Z>=Hloy =2~ 0,=3"0,=40yy="24>0,,=-16""
Y ¥ Z TR o ifVar(X +Y) ¥ cov(X +Z,Y) -
D
Var(X +Y)=Var(X)+Var(Y)+2cov(X,Y) =0y +0y + 20y, =2°+3* —2x2.4=82
cov(X +Y,Z)=cov(X,Z)+cov(Y,Z)=-1.6+0=-1.6
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P(X,+X,=1)=P(X, =1)P(X2=0)+ P(x1 =0)P(X, =1)
=(CJ % 0.02' x0.98% ) x(C; x0.04° x0.96° )
+(Co x0.02° % 0.987 ) x(C;’ x0.04' x 0.96”
=0.051+0.104=0.155
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3 0.02 3 0.04 0.0510 0.1041 0.1551
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N 0.01x97% 0.01x3%
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0.0495 0.9405
I | 0.0592 0.9408
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u n x-bar S o t* At
20 16 18.4 2.8 0.05 1.7531 -2.2857
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=-0.433

HNa=0.05< p@j =0.665 > ﬁ&?\jgﬁ?ﬁmggg@;é& , ;J[J@JJD%? F’*E kaﬂyﬂ SR o

f

p n p-bar z* pli

0.8 12 0.75  -0.433 0.6650
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